ABERESRESE [FUE[HD & % & [HLE
20204F 38 7H tIEH
(IB/E : 2A 13H)
X% : BObW
FRIBEE: 3/6 12:14
ERATIS fEi%iR EHER
iy . Eit HEE Al BE |mtl  (#E Bt HEE faE HE |uwe] (E&E
RIEFNR E20) &S AN & fEAs  [mEs |EmA 4,000] %
Eih HErE g = |[Ee  FE Rt A4St 150( & BEREN |=H#H4 Ehyn'y 800| &
3] fiftE s £ 1773k 250| {& = BER =3 WL 150| @ wimst #E52 100| &
B ¥ KP4k 100 {& BB =R FRILA1 54 & Figs Unst ENTYF 500( &
B5 100| {& W THERTYY |FREIL15 50| {& REAR 4 EiRS BNTY 550| #¢
ERE st TvHN 15k 100| {& ' SH 435+ & BE Ehst &4 400( ke
21 & £ 200 kg Ra5n EEIE #1575 100| &
RIF B TV e & 2,480 {& 5 400 kg
H 550 {& 1,500 &
=5 4,550 1%
. Ei HEE A ME |mal  EE T ]
Eib HEE pit E e HE|RE =R EaM5 500| ke
Eig )] YU1h, £525¢ 100| {& ExE 150| ke i HEE iz B el {EE
neyn 50| {& Hak FEETA EFRST 400 ke VAT 5= TOE 100| ke
&R ER YU1h, E5A%5 100 {& B F AEIR, 175 1,300 ke Eigs REs 1 800| ke
nyn 50| {& A k4 e F PN 400( kg s¥va5 BRSNS - 3 800| #&
et WTY . P1ht 100| & IMEE EETA5H ke ;7.8 =HEN THY 800| kg
PN S [ YRR IEGIT)S 100| {& h+hB [EHM. 235 100| ke st nES HIt 100( ke
=R La. 444 200 & TR EETA 200| kg FES B FE 60| ke
R E5A4+ 100| {& paf-] ETHT 50| ke 8= HZHEN =k =3 100| ke
E 0 339, 5254 150| {& Wk st BEMNIY 100| kg Eigs EH5 173 200| ke
SR RES | Y97, hIAS 100| {& N Iz LA, 435t 50| kg Bt 2,160 ke
IME~ 14344 & BE brt 2Ea 100| kg 800 #&
X9 Bt b k-0 100| {& &% 7 &4, E3A5 100( ke
HR 445 100| {& EESR EN75° 44 50( ke &f  7.710ke
wkn FOR 95 100| {& tam Fiich:: EEIAS 50| ke 5,930 {&
e N34 hst & ZR EEIA M08 600| ke 1,600 Z&
R E4a kg iR B 795 200| kg 800 1R 4HTER
| $E4n 400 kg &t 4,350 ke 4,550 f HERER
&7 100| &
FiF NiE brygmy 50| ke s
A Bt |@A7as @ RS
AEH vED) & Ei HEE ki B |mel  ([EE
H 450 kg 1= Eiast #97. B1hst 100| f&
1,350 {& wmEN #9754 150| f&
100 & 1) 8 B (hst 100| &
HE 100| &
e ZR #9355 200| 1@
Rk hiE EETA 150| kg
EEHh HEE sl B el  {HE iAo 445 100| &
Eig iR 7Y, 4Rt 650| {& ] 1R 50| 1
£ 7)) HAN NE S 100| & A ¥ 50| &
Bak Lya, Kav15t 1,000| {& i #9741 50 {&
(OERE: 1Maq 4% 50( {& = VEDZ)N 100| &
Bk 14+ 100 {& R IWBEE 445 250| &
FINRiREFEM 200| kg B WUAF EVES L) 200| &
B Ui 80| {& wn Shry3— Lyask 100| 1&
KR 5= &= & H 150 kg
X5 Fi& INIE S 100 {& 1,550 {8
=5 — Ahytst 50| {&
ERE s FhvEst &

(1/1)




